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If a matrix A is both symmetric and skew symmetric then matrix A is

(a) a scalar matrix (b) a diagonal matrix (c) a zero matrix of order n × n (d) a rectangular matrix.

A = [a ] is a square matrix, if

(a) m < n (b) m > n (c) m = n (d) None of these

ij m × n\ 

The number of all possible matrices of order 3 × 3 with each entry

(a) 27 (b) 18 (c) 81 (d) 512

Assume X, Y, Z, W and P are matrices of order 2 × n, 3 × k, 2 × p, n × 3 and p × k, respectively. 

The restriction on n, k and p so that PY + WY will be defined are:

(a) k = 3, p = n (b) k is arbitrary, p = 2 (c) p is arbitrary, k = 3 (d) k = 2, p = 3

Assume X, Y, Z, W and P are matrices of order 2 × n, 3 × k, 2 × p, n × 3 and p × k, respectively. 

If n = p, then the order of the matrix 7X – 5Z is:

(a) p × 2 (b) 2 × n (c) n × 3  (d) p × n

If A, B are symmetric matrices of same order, then AB – BA is a

(a) Skew symmetric matrix (b) Symmetric matrix (c) Zero matrix (d) Identity matrix

If A =  , and A + A' = I, then the value of a is

(a) (b) (c) (d) 
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Matrices A and B will be inverse of each other only if

(a) AB = BA (b) AB = BA = 0 (c) AB = 0, BA = I (d) AB = BA = I

If A =   is such that A² = I, then

(a) 1 + α² + βγ = 0 (b) 1 - α² + βγ = 0 (c) 1 - α² - βγ = 0 (d) 1 + α² - βγ = 0
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If the matrix A is both symmetric and skew symmetric, then

(a) A is a diagonal matrix (b) A is a zero matrix (c) A is a square matrix (d) None of these

If A is square matrix such that A  = A, then (I + A)³ – 7 A is equal to

(a) A (b) I – A (c) I (d) 3A
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Which of the given values of x and y make the following pair of matrices equal 

(a) (b) not possible to find (c) (d) 
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If a matrix has 6 elements, then number of possible orders of the matrix can be

(a)  2 (b) 4 (c) 3 (d) 6

If A = [a ] is a 2 × 3 matrix, such that a  =  Then a  is ________

(a) (b) (c) (d) 

ij ij .
(−i+2j)2
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 If A = diag(3, -1), then matrix A is

(a) (b) (c) (d) [ ]
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Total number of possible matrices of order 2 × 3 with each entry 1 or 0 is

(a) 6 (b) 36 (c) 32 (d) 64
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 If A is a square matrix such that A²=A, then (I + A)² – 3A is

(a) I (b) 2A (c) 3I (d) A

If matrices A and B are inverse of each other then

(a) AB = BA (b) AB = BA = I (c) AB = BA = 0 (d) AB = 0, BA = I

If A = 

(a) (b) (c) (d) 
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The diagonal elements of a skew symmetric matrix are

(a)  all zeroes (b) are all equal to some scalar k(≠ 0) (c) can be any number (d) none of these

If A =   and A = A’ then

(a)  x = 0, y = 5 (b) x = y (c) x + y = 5 (d)  x – y = 5
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 Then the value of x is ________

(a) 6 (b) 3 (c) 2 (d) 0
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 is a matrix of order

(a) 1 (b) 4 (c) 2 (d) 3
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For what real value of y will matrix A be equal to matrix B, where

(a) 1, 3 (b) No real value (c) 1/3, 1/2 (d) 2 and 3

A = [ ] ; B = [ ]
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[5] is a scalar matrix of order

(a) 2 (b) 5 (c) 0 (d) 1

 is example of 

(a) an identity matrix (b) a zero matrix. (c) a Scalar m (d) diagonal matrix.
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 is a matrix of order

(a) 2 x 5 (b) 2 x 2 (c) 5 x 2 (d) 5 x 5
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What is the element in the 2  row and 1  column of a 2 x 2 Matrix A= [ a ], such that a = (i + 3) (j – 1)

(a) 0 (b) 4 (c) -5 (d) 5

nd st
ij

If,   the value of a  is

(a) 0 (b) -2 (c) 2 (d) 3

= |i − 3j|aij
1
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 To construct a 2 x 3 matrix [a ], such that aij = –   The values that i and j can take are …….

(a) i = 1, 2, 3 ; j = 1, 2, 3 (b) i = 1, 2 ; j = 1, 2, 3 (c) i = 1, 2 ; j = 1, 2 (d) i = 1, 2, 3 ; j = 1, 2

ij
i−3j
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If A is a 3 x 2 matrix, B is a 3 x 3 matrix and Cis a 2 x 3 matrix, then the elements in A, Band C are respectively

(a) 6,9,8 (b) 6,9,6 (c) 9,6,6 (d) 6,6,9

If a matrix has 8 elements, then which of the following will not be a possible order of the matrix?

(a) 1x 8 (b) 2 x 4 (c) 4x2 (d) 4 x 4

Total number of possible matrices of order 3 x 3 with each entry 2 or 0 is

(a) 9 (b) 27 (c) 81 (d) 512
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The matrix   is not A.

(a) square matrix (b) diagonal matrix (c) unit matrix (d) None of these
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1f If   and , then which of the following is defined?

(a) A + B (b) B + C (c) C + D (d) B + D
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If , then  is equal to

(a) 20 (b) 22 (c) 12 (d) 10
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If  and , then the values of k, a, b are respectively

(a) 6,-12,-18 (b) -6,4,9 (c) -6,-4,-9 (d) -6,12,18
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If A and B are two matrices of the order  and  respectively and m=n, then the order of the matrix  is 

(a) m x 3 (b) 3 x 3 (c) m x n (d) 3 x n

3 × m 3 × n (5A − 2B)

The product   is equal toi s equal to

(a) (b) (c) (d) 
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If the product of two matrices is a zero matrix, then

(a) atleast one of the matrix is a zero matrix (b) both the matrices are zero matrices

(c) it is not necessary that one of the matrices is a zero matrix (d) None of the above

If   

(a) only AB is defined (b) only BA is defined (c) AB and BA both are defined (d) AB and BA both are not defined

A = [ ]  and B =  , then 
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If A and B are square matrices of the sameorder, then (A + B) (A - B) is equal to

(a) A -B (b) A  - BA - AB - B (c) A  - B  + BA - AB (d) A  - BA + B  + AB2 2 2 2 2 2 2 2

The set of all 2x 2 matrices which is commutative with the matrix.  with respect to matrix multiplication is

(a) (b) (c) (d) 
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, then if the value of   is

(a) (b) (c) (d) 
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If A is matrix of order m x nand B is a matrix such that AB' and B' A are both defined, then order of matrix B is

(a) m x m (b) nxn (c) nxm (d) mxn

The matrix   is a

(a) diagonal matrix (b) symmetric matrix (c) skew-symmetric matrix (d) scalar matrix
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If A, B are symmetric matrices of same order, then AB - BA is a

(a) skew-symmetric matrix (b) symmetric matrix (c) zero matrix (d) identity matrix
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On usiig elementary column operations C ➝ C  - 2C  in the following matrix equation  ,we have 

(a) (b) (c) 
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On using elementary column operations  in the following matrix equation , we have

(a) (b) (c) 
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→ − 2C2 C2 C1 [ ] = [ ] [ ]
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On using elementary row operation   in the following matrix equation   we have
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If X, A and B are matrices of the same order such that X = AB, then we apply elementary row transformations simultaneously on X and on the matrix

(a) B (b) A (c) AB (d) Both A and B

Matrices A and B will be inverse of each other only if

(a) AB = BA (b) AB = BA = 0 (c) AB = 0, (d) AB = BA = I

If A and B are square matrices of the same order and AB = 3I,then A  is equal to

(a) 3B (b) (c) 3B (d) 
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 If  , then

(a) x = 3, y = 1 (b) x = 2, y = 3 (c) x = 2, y = 4 (d) x = 3, y = 3
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If matrix   Then  is equal to 

(a) I (b) A (c) 0 (d) None ofthese

A = ,  where  = {[ ]aij 2×2
aij

1,  if i ≠ j

0,  if i = j
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The value of x such that
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For any two matrices A and B, we have

(a) AB=BA (b) AB ≠BA (c) AB = 0 (d) None of these

If A and B are symmetric matrices of same order, then (AB' - BA') is a

(a) skew-symmetric matrix (b) null matrix (c) symmetric matrix (d) unit matrix

If   then F(x) F(y) is equal to

(a) F(x) (b) F(xy) (c) F(x + y) (d) F(x - y)

F(x) = [ ]  , 
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The matrix A satisfies the equation   then matrix A is
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If   then A  is equal to

(a) zero matrix (b) A (c) I (d) none of these
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If   then A  - 5A - 7I iS

(a) a zero matrix (b) an identity matrix (c) diagonal matrix (d) none of these
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A matrix has 18 elements, then possible number of orders of a matrix are

(a) 3 (b) 4 (c) 6 (d) 5

If matrix A is of order m x n, and for matrix B, AB and BA both are defined, then order of matrix B is

(a) m x n (b) n x n (c) n x n (d) n x m

The matrix   is

(a) a symmetric matrix (b) a skew-symmetric matrix (c) a diagonal matrix (d) none of these
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If   then the value of kif, A  = kA - 2I is

(a) 0 (b) 8 (c) -7 (d) 1
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If   then A  is__________matrix.A = [ ]
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If matrix X is such that   then order of matrix X is________X [ ] = [ ]
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If A and B are matrices of order 3 x m and 3 x n respectively such that m = n, then order of 2A + 7B is__________

 then value of a is_____________ If A = [ ]  and A + = I
cos α

sin α

− sin α

cos α
A′
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